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BEIFCHYT &

Choose the most semantically appropriate word or phrase from among 1 to 4 in

order to complete each sentence.

[1]1 Students often mix words from their first language in with the language they are

learning when they have forgotten a term or do not know how to express themselves

in the second language. This is called { ). The answer is: 5
false cognate

code-switching

positive transfer

W o =

negative transfer

(2] In second or foreign language learning, ( ) is a process which sometimes

occurs in which incorrect linguistic features become a permanent part of the way

a person speaks or writes a language. The answer is: :
1 transfer

2 fossilization
3 silent period

4 negative feedback

(3] ¢ ) happens when interlocutors attempt to overcome problems in conveying
their meaning, resulting in both additional input and useful feedback on the
learner’s own production. The answer is:

Empathy

Demotivation

Strategic competence

E O

Negotiation of meaning

(4] ( ) occurs when sounds are omitted from the pronunciation of a word,

usually because the omission makes the words easier to use in everyday speech.

The answer is: .

1 Elision
2 Reduction
3  Articulation

4 Assimilation



Answer the following questions.

(1] Choose the underlined word from among (D to & that is incorrect grammatically.

Answer from among 1 to 4. The answer is:

BRETAELNTOERADT, BHEVELERA.

Adapted from Hayao Mivazaki’s flights Wings and prayvers
(The Economist, June 6t1-12t 2020)

1 @ 2 @ 3 ® 4 @



[2] Choose the underlined sentence from among (I to @ that is incorrect
srammatically. Answer from among 1 to 4. The answer is: ;

BRETAEONTOERADT, BHEVELERA.

Adapted from The View Opener (TIME August 3/August 10, 2020)

1 @ 2 @ 3 @ 4 @



Read the following passage, look at Figure 1 and Table 1, and then answer the

questions on page 6.

BEETNBLATVERADT, BHEVELEL A,



BEBHAISABONTOLEEADT, EBEVLEEA,

Adapted from Fostsecondary Enrollment Before, During, and Since the Great Recession

(Erik P. Schmidt, United States Census Bureau, 2018)

—5—



[1] Choose the most appropriate sentence from among 1 to 4 in order to fill in the

blank ( () ). The answer is:
1T BHEATALABLNTHEREAOT, BHEVVLEE A,

2 The number of undergraduate enrollments is always much bigger than that of
postgraduate enrollments.

3 Tigure | shows that college enrollment correlates with the unemployment rate.

4 During the Great Recession period, though the unemployment rate dramatically

rose, the college enrollment rate did not change at all.

[2] Choose the statement from among 1 to 4 that is not consistent in meaning with
the passage. The answer is: :

1 It became clear that people tended to study more to get academic degrees
during the recession period.

2 Table 1 indicates that the total college enrollment became highest in 2011,
but not all the levels of institutions accepted the highest number of students that
year.

3 Although the percentage of female students enrolled in all levels of college
was higher than that of males, it became lower during the recession compared
to the prerecession period.

4 Age was not a variable regarding the number of students enrolled in college
from the prerecession period, through the recession period, and to the

postrecession period.



A Blank Page



Read the following passage and answer the questions on page 11. Note that the four

paragraphs in the m in the passage are randomly arranged for Question [1].

BRETAEONTOERADT, BHEVELERA.



BEHAISABEONTVLEEADT, BEVLEEA,

BEBHAISABEONTVLEEADT, BHEVLEEA,

HAINEONTVWERADT, BBV LEEA,

BEBHAISABEONTLEEADT, BEVLEEA,

BRETABONTOERADT, BHEVELERA.



BEBHAISABEONTLEEADT, EBHEVLEEA,

Adapted from Helen Scales, MARCHING TOWARD EXTINCTION
{National Geographic, June, 2020)



(1] There are four paragraphs in the m in the passage. Put them into a

correct order and choose the most appropriate combination from among 1 to 4.

The answer is: .

1 A - C —- B —- D
2 B - D —- C —- A
i € =+ A - D —+ B
4 D - B — A — C

(2] Choose the most appropriate sentence from among 1 to 4 in order to fill in the

blank ( (I ). The answer is: ;

1 Dbut they are destined to become extinct
and humans sometimes hunt them for fun
BHAAUNEBONTHLWERADT, BHLV-LERFA.

but not all penguins can survive under the severest weather

B W Mo

[3] Choose the statement from among 1 to 4 that is the most consistent in meaning

with the passage. The answer is: .

1 In order to observe how climate change leads to the significant losses of
Antarctic sea ice, Stefan Christmann came back to the colony in the Atka Bay.

2 If we can keep the temperature from rising more than 1.5 degrees Celsius,
perhaps 80 percent of the colonies could be saved.

3 Most female penguins don’t come back to their partners and eat all food by
themselves because they require a lot of energy to produce an egg.

4 The chicks don’t have to swap their gray down for adult feathers because their

gray down is waterproof and they can swim in the sea after the sea ice melts.



Read the following passage and answer the questions on pages 14-15.

BRETAEONTOERADT, BHEVELERA.



BEBHAISABEONTLEHADT, EBHEVLEEA,



Adapted from Dana Rus, Creative Methodologies in Teaching English

for Engineering Students (Procedia Manufacturing, 2020)

[1] Choose the most appropriate phrase from among 1 to 4 in order to fill in the

blank { A ). The answer is: .

equip workers with skills

BRETAEONTOERADT, BHEVELERA.

equip ESP teachers with teaching techniques

W B =

equip students with ability to read literatures

[2] Choose the most appropriate phrase from among 1 to 4 in order to fill in the

blank { B ). The answer is: .

1 information literacy
2 a classroom-based approach
3 the traditional informative purposes

4 BEHFA/GONTVLEEADT, BEVZLERA,



[3] Choose the statement from among 1 to 4 that is the most consistent in
meaning with the passage. The answer is: :

1 Before and after the Second World War, the purpose of language teaching
had something to do with achieving social status or the ability to read classic
literature.

2 According to Dudley Evans, one of the factors of the definition of ESP was
about the methodology that ESP teachers use in their lessons.

3 Creative teaching strategies stimulate learners and facilitate their language
learning especially focusing on informative purposes.

4 It is the privilege for ESP teachers to teach future professional students to
have a communication skill using the second language as it is connected to a

futuristic society.

[4] A first sentence for each paragraph is shown below from A to D. Choose the

best combination from among 1 to 4 by filling in the blanks { 1 3 { 2 3},

¢ 3 Yand¢ 4 ». The answer is: .

A, BREFATSELSRTVERADT, BRWLVELEEA.

B. BEHFAL/BELNTOERADT, BREVLERA,

C. BEHIIAELONTLEEADT, BEVLEEA,

D. BEHFAMEONTVEREANDT, BREWLEZLEERA,

T €1) A 12 € {3% B (4% D
2 (1) B (2% D (3) C (4% A
3 {1} C {25 A (3% D {4 B
4 (1% D {2) B Lo o 1 (4% C
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